SUMMATIVE ASSESSMENT -1 (2011)

Hapfora wer—I 470045
SCIENCE / fasm
Class — IX / ShaIT— IX
Time allowed: 3 hours Maximum Marks: 90
fFeiRa w9 : 3 "ve fHTH 3F : 90

General Instructions:

(i) The question paper comprises of two sections, A and B. You are to attempt both
the sections.

(i)  All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the
five questions of five marks category. Only one option in such questions is to be
attempted.

(iv)  All questions of section A and all questions of section B are to be attempted
separately.

(v)  Questions 1to 3 in section A are one mark questions. These are to be answered in
one word or in one sentence.

(vi) Questions 4 to 7 in section A are two marks questions. These are to be answered
in about 30 words each.

(vii) Questions 8 to 19 in section A are three marks questions. These are to be
answered in about 50 words each.

(viii) Questions 20 to 24 in section A are five marks questions. These are to be
answered in about 70 words each.

(ix) Questions 25 to 42 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

e ey
(i) 9 U U I Q1 9T, FT 31 IR 91T § § giel 77 2| MU SF1 AR & Ul & Sk
fora £ |

(i)  =ft g arfvant g

(i) T U 939 R DS T99 UG el © W Ya—did Dl & dfa gt # Aok == &
2| 37 Ul # 37T Hacd b W™l ad9 Bl Ik folkdd & oy g9 Fahd & |

(iv) ST ¥FT o iR 9FT 9 & 9l el & Sk JIH—9Ud foras 8 |

(V) 9T T & U &1 1 9 3 & U Uh—Udh 3d & & | 399 Sk Udh I 31al U arag H
< |
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(vi) AT 31 & U AT 4 F 7 B YT GI—al 3Bl & 2 | S S} ITHT 30—30 Il § 2 |

(vii) T 31 @& U3 =T 8 W 19 & U WIF—<| 3Dl & B | 9@ IR o THT 50—50 Iea] H <A
g

(viii) 1T &1 & U AT 20 W 24 B YT UMA-UMT b B & | P SN ATHIT 70 &I H o § |

(ix) 9N 9 & Ued AT 25 H 42 & U YANHG DI WR ARG dgfddhedl Ie © | IAD
U U 3id BT & | Ry T IR RAaedl § 9 D! SHad Toh G99 STYTd [ddmed =1 2 |

Section A

1. An unlit incense stick (agarbatti) gives smell only when we come close to it but on
lighting the stick we get smell even far away from it, why ?

o1 Sttt SRRl i T4 el 919 | B HeYH Bl © STeih Stord! ST i 18 §T qoh Wed™ i
ST T 2

2. If the mass of a body is doubled what will happen to its acceleration, if the applied force

remains constant ?

gfe foreht fave 1 gemm < AT 81 S 3R 39 R & el o T 1§ O ST @0 61 91 BT 2

3.  Name the processes by which CO, and H,O move into and out of a cell ?

3] Wishan o1 A fafgd foes g1 CO, iR H,0 ot hifkmen & s1x Tt SiR ae St € |

4. Tabulate any two differences between mixtures and compounds.

g 3R ik < o= fR=l 31 &=l it = SR

5.  Mention any two phenomena which can be successfully explained on the basis of Universal
law of gravitation.

H1E S YRERATE fafan foent A et fom & STeR R A i < ol |

6.  What is meant by endocytosis ? Name an organism which uses this process.

ToHEfEY fhd shed €7 The T Sid 1 a1 fafed s 39 ufswan o1 Suanm s 21

7. Mention two functions of stomata.

{4 % < d fafEu)

8. The following triangle exhibits inter-conversion of the three states of matter. Complete the
triangle by labelling the arrows marked A, B, C and D. Out of the four processes A, B, C and D

select any one in which heat is (i) absorbed, (ii) evolved.
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10.

11.

Solid < d
Sublimation

frefafaa st # uared st @ stereensti w1 st wur=Ror <uifen 7o g1 dR & 5, A, B, CA<D
! THifshd ek 39 Y 1 qU FIfSIT 1 =R fshatsti A, B, C a9 D | o8 fshan g f59d (1) o

STaenfed Bt €, (ii) SO S B T

g
A B
! C
D h
a9 < > T
FeATA
(@) Draw a labeled diagram of the apparatus used to separate a mixture of oil and water.

Write name of this apparatus.
(b) State any two other applications of the technique used in this apparatus.

(a)  da iR U % e FI A wH F AU ggE STR H AR o SRS | 39 SR

&1 1 fafe |
(b)  TH UKV H IYAN B TTCH Tehrfich oh s ol 3T SATHAM fafad |

A particle moves 3m north, then 4m east and finally 6m south. Calculate the displacement.

Also calculate the distance travelled by the particle ?

I HU U8 3m IR AT ¢, R 4m 7o ST § 3R 310 H 6m &Io1 ST €1 k07 A1 foaRen
IRERTAT I | 0T §RT T i T G IRepfard it |

(@) Give reasons for the following.

(i) It is advised to tie the luggage kept on the roof of a bus with a rope.
(if) A gun recoils after it is fired.

(b) Define momentum of an object.
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12,

13.

14.

15.

(a) fAfafaa & fog wro fafaw
(i) o ! BA W T HHA H T W G HT HAR & S G
(i) Tl DI % TTAN TGk FIALTaul HIA |

(b)  Tordll a%g o Hem ki R fafaT |
What happens to the gravitational force between two objects when the :
(@) mass of one object is doubled.

(b) distance between the objects is tripled.
(c)  masses of both objects are doubled and the distance between them is tripled.

1 TyvEl o i TR oA u St ShT T B §, 57

(a) fordlt T fooe &1 goomm < T R ST g,

(b) < favel % <= &t gl A9 T R S G

() Sl fyuel & ZeMM <1 TH SR §3h o= i g8 o T &l S §

State the action and reaction in the following :
(@) moving rocket
(b) firing of a bullet from a gun

() a person walking on the floor.

frafafaa yeon # Bran qen wfatear o1 seorg hife .
(@) TR IR HEAT

(b) Sk G T SO

(c) oAl 1 TSh W <Al

(@) What is meant by acceleration due to gravity ?

(b)  Planet Venus has radius one half of the Earth and mass 1/9t" of the Earth. Find the

value of g on the surface of Venus. (given, value of g on surface of Earth=9.8m/s?)
(a) TEETE R Y R e 72

(b) ¥k U I e gt ot e ki emeft e seRt S Yedt & SEME #1 1/9 T R U
TT o I8 T IEE R0 g 1 AF 0T RIS (J2al F 8 Wg=9.8m/s? )

(@) Draw the adipose connective tissue.
(b) Mention one region in the body where this tissue is present and state one function  of
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16.

17.

18.

19.

20.

this tissue.
UMY (TSIIST) ST Saeh ol 3TN Gifau |
BN IR & ST & hl 3ol HISTY ST I8 Sadh SUTLYT BT € TUT 39 Sxlh bl Teh 14

fafau |

Draw a labelled diagram of a neuron. (Two labellings)
Identify the tissue which is made up of these cells.

Name one organ that is made of this tissue.
= 1 AHifRd fost (R fIF M) Eifa |
5 ShITRTRIAT | o1 ek i T hifeq |

31 Saehl 9 94 foRdl Tk 31 w1 AW fafaw

Describe the structure and write any two functions of the Golgi apparatus.

oSt IUHTVT ki LT 1 90 HIFTT TLT TGk ahlE al w1 fAfgy |

(@)
(b)

What are macronutrients ? Why are they called macronutrients ?
From where do plants acquire the following nutrients :

(i) Nitrogen

(ii) Hydrogen

T U 1§ AR 3% gaq Uik il Had © 2

ey frefefiad diver w8l @ IE i ©
@) S
() RGNS

Why should fertilisers be applied in proper dose and at proper time ?

Iehl Rl YA Sfed T9a 9 3fed 9 o =) He =ifeu ?

Name and describe the method used for separating the components present in a sample of ink.

List its any two applications.

forelt STl o T H SUfeerd STaFal hl ek i i T 1 AT 41 IHeh1 J0H hifae | 9 fafg
foregl <1 ST Y YR AT |

OR
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21.

22.

How can we separate a mixture of two miscible liquids ?

Draw a neat labelled diagram of the apparatus used for separating acetone and water
(forming a miscible mixture) from their mixture.

Can all mixtures of two or more miscible liquids be separated by this process?

List two criteria needed for using this process ?

< Foreiel gai o Tas1 Sl g1 S gUF T Gohd & ?

THEH qen siat (S gareia fasgor s §) & s s gus o & foae swm fee S
el SYHT] <hl o= THifhd STRE ST |

F1 T9 UlRal 50 At T AT A gAl &k Foreia gl % eEdl I gUe fear S
T 8 7

29 fshal sl ST K & < A SUST i el AR |

Differentiate between three states of matter on the basis of following properties.

(i) intermolecular forces. (if) Arrangement of molecules.

Liquids generally have lower density compared to solids. But you must have
observed that ice floats on water. Give reason.

= feu 7T Ton W e uered @t A stewensd § ofm fafa
(i) AAUSTiveh oel (i) AU I HIEA
Tl S et i ST el 1 U HH Sl ¥ 1 fhA 39 9 % ohe @l oI B

R BT <@ BT | R fafa |
OR

What temperature in Kelvin scale is equal to 50°C ?
Describe an activity to show that rate of evaporation increases with surface area.

State two differences between evaporation and boiling.

50°C ITIHH ! shiced JqM H TR hifSIT |

e foRaTehai gR1 AR HifeTe foh fohd TR del &1 sied W aTsiehiol i X ff 98
STt 71

TSR0 qoT FaeA H g1 oA fafau |

What happens to a person travelling in a bus when the bus takes a sharp turn ?  Give
reason.

A cricketer moves his hands backwards on catching a fast moving ball. Why ?

A bullet of mass 0.02 kg is fired by a gun of mass 20 kg. If the speed of the bullet is

150 ms~1, calculate the recoil speed of the gun ?
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23.

(@) 9 DR o9 et dren e W e 1fa @ gedt § 9 ST 93 oAfad a1 . e | 2
(b) g TIfd T TiE I A9Rd THA fohshe o1 TSl 15 sl cTUehat 370 gl o1 G il o ST
g?

(©) 20 kg ZeAHM o1 TRl A9 9 0.02 kg ZSIHM 1 <hig TMiell SR T8 | A el 1 &
150 ms~1%, A 9 & Ffa&aor st o1 gfiehfed sifs )

OR
(@) If the mass of a body is doubled, what happens to its acceleration when acted upon

by the same force ? Justify your answer.
(b) It is easier to stop a tennis ball than a cricket ball moving with the same speed. Why ?
() A girl of mass 40 kg jumps with a horizontal velocity of 5ms~!ontoa  stationarycart
with frictionless wheels. The mass of the cart is 10 kg. Find her velocity as the cart starts
moving. Assume that there is no external unbalanced force working in the horizontal
direction.

@)  Afc forel avg &1 58AM QA AT 81 1Y SR 39 W AT o 961 © 1 39 9% & @0l Al
T BT ? 379 IR i I Hife |
(b)  TEW AT Y GHH fohohe # 35 okl Gor § 9 T g hY kAT AT B 7 | i 2

(c) 40 kg 59 1 i Tkl THuRTEd ol oot fondlt Tt g2 M W 5 ms—1 & Afest o 4
Fedl ¥ 1 TS BT §ATH 10 kg &1 TMEH 3 Fo W TEh! 1 97 A SHIfSC | g WT foh &fast
foun # *E T STEqfad oot T8 F @/

List two difference in tabular form between speed and velocity. When is a body said to have :
(@) uniform velocity and
(b) variable velocity.

How is the average velocity of a body calculated when its velocity changes at a non uniform

rate ?

RO & ®9 H =1 a1 3 H &1 A=K fAfge | fohet 3% 1
(a)  THRYHAM &7,

(b) SRl ST 9 TIAHE HeET S § 2

STel RIS % ST S AT o H URerde Rt & O SHeRT T a A HY qfiehfera fohan S €2

OR
A train starting from rest, pick up a speed of 10m/s in 100s. It continues to move at the same

speed for the next 250s. It is then brought to rest in the next 50s. Plot a speed - time graph for
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24,

25.

26.

the entire motion of the train. Calculate -
(1) acceleration of the train while accelerating,
(ii) retardation of the train while retarding, and

(iif)  the total distance covered by the train.

HIE YS! Torrmrereen | Tfd STRE Xk 100 s H 10 m/s i =1t 9 T e T 81 98 WA 250 s
¥ 3t 9Tet ¥ wordt Tl § TR R o7l 50 s | faum staren o o1 Sl §1 Yermel s gHEd i
A G9T UTh ST qer :

()  Rd B THI TS hT @,

(i)  fEd B0 WA Y@ B A qe

(i) YIS BN T W E ot g e i)

Mention the different methods of growing crops to get maximum produce. Give one example
of each method. List the factors which are taken into consideration while deciding the choice of
crops for each method.

FHT! Sl 3G Bl IgH o T 3= 3TH =1 fafa= fafe=i & =m fafed | waw fafy =1 e s
fafed | v fafa & fau wocl 1 3 599 wRet & R W fran o 2, 3= fafed

OR
Differentiate between capture fishing and culture fishery. Explain the advantage of composite

fish culture with example. State the problems faced on adopting composite fish culture and
also the solution found to solve it.

‘Tel TEeT R ‘Hedl o' # o T wited | fafya weel dade 9F &y 3SR g
gresd | Tafyd aoc GaeF A9 T 9 S9SN T § 3T SHeRT 9 W fohar = @i ')

Section B

A student was asked to mix the white of an egg with water and stir well. The student
observed that
(@) atransparent solution is formed.
(b) atranslucent mixture is formed.
(c) egg white settles down at the bottom.
(d) egg white floats on the surface.

Teh, foramell il 3 &t WWhal ol STl § 7ot d¥8 Hiei ohl &hal 1| 39 faeneff 7 <@ f
() ORGSR faeras e g |
(b) IR foletd Ted g1 |
(c) ic = el acll § <91 81 T3 |
(d) 1S I HHal Fq8 T M |

If common salt is added to an unsaturated solution of common salt in water it will
(@) become a colloid
(b) become a suspension
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(c) start showing Tyndall effect
(d) remain a true solution

HIIROT THe o HJA Sl faeaas § dierer 9 fHeam «
(a) HIAEEA foer@ T Brm |

(b) e T S|

) f=a yvm fe@E <mi

(d) oo arafaes g =i

27.  Which is the correct colour sequence of iron filings, sulphur and iron sulphide ?
(@) Greyish black, yellow, black
(b)  Black, yellow, brown
(c)  Brown, yellow, black

(d) Black, yellow, greyish black
SAleeul, eIk T 3TRRA HehIEE & TN 1 T s B -

(a) ISl e, Hie, el (b) T, IR, YA
(c) I, diedl, shrell (d)  hTel, dietl, Tiel shiel
28.  When barium chloride solution is mixed with sodium sulphate solution

(@) awhite precipitate is formed instantaneously
(b) a white precipitate is formed only after some time
(c) ayellow precipitate is formed instantaneously

(d) ayellow precipitate is formed

el i Feirrse foered wl difeaw dethe foerem § fufsa feran i
() T Hhe STEEY o T

(b) F THI o YTAM The LT o 71|

() T dieT STaad 7 T4 |

(d) T EHA E diel STFaT 51 T

29. A student heats some water in a round bottomed flask for determining its boiling point. He

keeps on recording its thermometer readings. On the basis of his observation he would
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30.

31.

conclude that the temperature of water :

(@) keeps on increasing regularly.

(b) keeps on increasing irregularly.

(c) first increases slowly, then rapidly and eventually becomes constant.
(d) first increases rapidly, then slowly and finally becomes constant.

HIE BH M Ut & TAh H FS T i TR IR T HH & ¢ T Har &1 T wd g9
I AR % Wi RS Il 81 3T UIeAihi & SMER W 98 Sl & 19 & fovg o =g frepd
[REISRINERICIETCRSERAS G IC TG kI

@ fafie s d sea e

(b)  fTafad T F Fear €

()  Uee Hi-+ik g g, f Ioft & wean € iR o1 o oo &1 < 7

(d) e s A TR R eit- i sgar it o o feer & s §

A student made a list of following four precautions for the experiment on determination of

melting point of ice. The incorrect precaution is :

(@) The bulb of the thermometer should be kept surrounded with crushed ice.

(b) Ice should be stirred regularly.

() A small quantity of common salt should be added to the crushed ice to avoid quick
melting.

(d) The temperature should be recorded keeping the eye in the level of mercury.

fordll B A ot 1 Tl (EiRd sl o 9 & fore fefafad = geafEl s et s[5 g
I Ot wEE wd =7 T

(a)  oWETHER 1 dod Ft g8 9% o o 1 =few |

(b) o ! F<R foelifed d T =feu |

() T E a6 H F© TH HAM A6y difeh 9k e 7 e |

(d) 9 HT UIHR T HHF @ HT IR T qA H WA AMEC |

The sequence commonly followed for separating a mixture of sand, common salt and
ammonium chloride is :
(A)  use of magnet, dissolving in water, filtration, sublimation

(B) dissolving in water, filtration, evaporation, sublimation
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32.

33.

© sublimation, use of magnet, dissolving in water, filtration

(D)  sublimation, dissolving in water, filtration, evaporation

I, 9IER0 A q91 STHIHIH FANEe % {0 & gYFR o fau gmm=d: d9Ar Se o
EIERIC o R i

(A) Tk 1 SYAN, ST H Hier], Fered, S

(B) STl H ®iiel, &<, aTviiehil, Seadra

(C) eI, Hreieh sh1 SYANT, Set H Hierr, frer<

(D)  SHEEURH, il # =erT, e, st

The reaction of iron and sulphur to form iron sulphide takes place at :
(@) athigh temperature

(b) in the presence of a catalyst

(c) atmoderate temperature

(d) in the presence of an acid

S FTHTES oM o TTT SARRA 3 T4 o i TemEeh Atfsean gr
(a) S AU R (b)  SCUTH hi Sufeefd H |
(c) ¥=IH A" W (d) oA I 3fefa #

Four students used different ways of burning a magnesium ribbon as shown by figure I to IV.

171 LR

fi] [v]
The correct way has been followed by student :
(@ 1 (b)y 1I (c) 1II (d 1V

S T = ool 19 1TV g ewitan =1 @ =R faenfefai 3 S=ifyem fom o1 Siam & fau srem fafy
YA
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11 LR

[IT1] [Tv]
el fafy srom e foemef © .

@ I (b) I € I d v

34.  The colour of the pure ammonium chloride powder is :

(@) White (b) Blue (c) Green (d) Red

IS ANIH FAREE 1 3181 @

(@) g (b) © & (d @«
35. Raisins swell up after being placed them in a beaker containing water for sometime because.

(@) Water inside the raisins exits when placed in a beaker of water.

(b) The concentration of water in the cell sap is the same as that of water in the

beaker.
() The concentration of water in the cell sap is higher than the water in the beaker.
(d) The concentration of water in the cell sap is lesser than that of water in the beaker.

forelt sitent o T It H fohefieT T W 3 99 915 3 el S § i -

(@) o foruifen =1 ot & @1 S § @ $9R SR 1 U o) e S 7
(b) IR H feord ST it Higal SR S18@ ST S Hgdl e el ¢ |

() IR < 3T ST ! TSl A8 S i F=dl § 37feh gt ¢ |

(d) IR ST A i TR AT A ! HEdT 9 HA ST ¢ |

36 Which one the following diagram depicts the structure of onion peel ?

The correct answer is :
(@ A (b) B () C d D
1 o @ =F o fo = i foreett 61 wi=m1 S wefiid a2
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37.

38.

39.

40.

A student accidentally spilled a few drops of a solution over the shirt, the area became blue
black because the solution was :

(@)  potassium dichromate which oxidized the piece of shirt.

(b) HCI which reacted with metanil yellow pigment of the shirt.

(c) iodine which reacted with the starched part of the shirt

(d) an acid which burnt the patch of the shirt.

3T | Teh 9o 1 $5© §s T foenedl o) wHs W R 71 o1 5% &5 el el 21 7@ Hifn
EENEEE]E

(a) IR eEshite 9T wHIS < 39 68 1 ARl foRan |

(b) RSN TR fTEeh! Hels § Suferd Hefa ae Teea § sfafnan g8 |

() SN el HHe & W arl fosd ¥ s1fafshan g8 |
(

d) TH o7 e s &1 a% fewm Sten feam)

Metanil yellow is an adulterant of :

(@) cereals (b) milk products

(c) turmeric powder (d) pulses

HefT Iell T STafHe® © -

(a) TSI (b)  TU h IUGI FI

(c) TRl YIRS (d) Tl
Animal cells are commonly stained with :

(@) methylene blue (b) acetocarmine
() safranin (d) iodine solution
STwq hIfSTeRtedt <l ARRTS e & fore arm=ra: ST faman T 2
(@)  AefielE =g (b)  UHIEHMIEA

()  HHAH d)  smEIfed faemm

Raj observed nerve cells under the microscope and made the following sketch. The
istake in his drawing is, cyton with
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41.

42,

(@) Cilia (b) Dendrites
(c) Nucleus (d) Cytoplasm
TSt A T =R HITHT R A o A w@n AR A= fean 7o S wiwn) 3w e H R g,

HITSTRTRTT & T :

Ty (SeEH)
CAINEIR-C]

A student soaked 10 g raisins in 75 mL of distilled water in two beakers A and B. He
maintained beaker A at 20°C and beaker B at 40°C. After an hour, the percentage of water
absorbed will be :

(@) same in beaker A and B

(b) morein A thanin B

() morein B thanin A

(d) twiceas muchinBasin A

w famneff 7 10 g fRaIfiet 75 mL a5t & 1 il A 3R B H fimd | st A &1 369 20°C &
AIHH TR 7@ 31X ekt B T 40°C W W11 1 5 & oI5 STAi it st Hfasrd A= 2t -

(a) A 3R BH Tw A (b) AHBH Afum

(0 BHAY = (d  BH AH I

A student observed the empty spaces in slide of sclerenchyma. It shows

,l) Thickened walls

: Lumen
AN

(@) Protoplasm is dead at maturity  (b) Intercellular spaces
(c) Cytoplasm is thin (d) Lumen in cell
e forenefl 3 TRit=hTewl &1 T wige | e v e foran | 3o q@ g e
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Her fufa

—w
(ST
(a) g et T IR 54 T4 | (b) ST STARTRINTH T T |
(c)  THITYTRT 558 qae & | (d) IR § A T
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